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The figures in the margin indicate full marks
Jor the questions

1. Answer any four of the following as directed :
1x4=4

FetrE were fracas R e sifkbr e fin -

(a) “A valid argument may have only false
propositions—false premises and false

* conclusion.” Is this statement true or
false?

“gBl WY IS @ wE /W QRN
AI—PTS] RIS e Bias 1 @3
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(2) | | (3)

(b)) Which of the following is a conclusion 0 Write the literal meaning of the word
indicator word used in an argument? ‘misericordiam’.
@ ‘Misericordiam’ *RoR SrFRE &Y o |
CL 1) CFIAHI Foe R @A
ﬁ'a‘.l@’[zn x5 9 ' (g9 Logicians I. M. Copi and Carl Cohen

mention one/two/three kinds of fallacy

(i) Therefore of composition.

sz | (Choose the correct answer)
e W @ I 9 IR @A
RS ST o1/ o1/ TORT R Trmy

(i) Because

IR (o= Tt IR Serean)
(h) ‘Argument from Verecundiam’ is a
(Choose the correct answer) fallacy of the argument from
(% et AR Tfrean) ignorance/fallacy of false cause/the
- argument from inappropriate authority.
(c) In which order of enthymeme, the (Choose the correct answer)
minor premise is hidden? ‘Argument from Verecundiam’ SR
| SR AR (D] FS o SRR T B GEOEAT ST/ FRIRO
2% ATF? ‘ SR /SARY FQLET SHCA |
‘ (% TeCh! AR Sfere)
(d) How many premises a sorite may have? '
2. Give example (any three) : 2x3=6
B T *3eTO (sorite) FXB SR A | S ey PN
AR ? '
(a) Deductive argument
(e) Name the chief fallacy under which the RN zl[@
Strawman fallacy is included. ‘
Strawman IR (MOl YW A (b)  Sorite
S, GIRUBI T o ‘ TR
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@

(e)

(4)

Dilemma

o

Argument ad Baculum

SGCTD I IFAN

Argument ad Hominem

HRGETS IS AN

Argument ad Ignorantiam

HRBTTD I T IO

3. Write short notes on (any fwo) : 5x2=10
5 GGt forar (R e )

(a)

(b)

()
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Types of conversion

TRHGH FRENR

Characteristics of inductive argument

SRS e CINEPTR

Figures of syllogism
WS ¥

( Continued )
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(d) Determination of valid moods of second
figure of syllogism

e Al e ey 1 1 Reoet B

(e} Argument ad Populum
SRGTID G AR

() Ignoratio Elenchi
FE'EbS

4. Answer any three of the following questions :
10%3=30

oo fin epprged R e fefbr e v -

(a) Distinguish between inductive inference
and deductive inference.

e e wF feee R TS
onefe Pefg 11

() What is categorical syllogism? Explain
the characteristics of categorical

syllogism.
s wm P B @ s T
CRREETR 0 0
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(c)

(@)

(e

(9
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What is hypothetical syllogism?
Elaborate various forms of hypothetical
syllogism with suitable examples.

o TE P B @ Ty trmw
o giefee IR RiSa oo/ T w111

What are the differences between
immediate inference and mediate

inference? Discuss.

G SN S TGN S e
12T SICZ 7 A F41 |

Explain various kinds of inductive
fallacies.

AT 2RI A SHCUY T 347 |

Discuss various kinds of fallacy of
presumption.

JeiRe ST (e P ot 3547 |

What is fallacy according to I. M. Copi?
Discuss various kinds of fallacy of

equivocation.

2. 49, IR O W 2 57 mohe
HTES RiSH 2R SCEsA 97 |

{ Continued )

(h) Tiustrate various difference

(7)

s between

formal and informal fallacy.

TR FRAR SCo 90 1
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